I. Use mathematical induction to prove _théxt
h+fat+tfs++ fon1=fon, Yn€EZnNn>1

(fn denotes the n-th Fibonacci number).
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II. Use the Euclidean Algorithm to find (204,444) and to write this greatest common divisor as a
linear combination of 204 and 444.
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ITI. Find all solutions of the Diophantine equation

2r -3y —72=10
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IV. Prove that the greatest common divisor of the integers a and b, not both 0, is the least positive

integer that is a linear combination of a and b.



V. Show that V5t V2 is not a rational number,
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